UGS -2 — Qurg) eyfe,
Part-A — Generg] Studieg

Aeméser  : 1-100
Questions :1-—100

—

Is

Arrange the following OSI layers in order
(1) Data Link Layer

(2) Physical Layer

(3) Transport Layer

(4) Network Layer

@A) (@), Q), @), (3) B) @), 3), 1), @)
© @, ®), 2, Q) D) @), (1), @), @)
(E) Answer not known |

Gereumd OSI @iPs@smer aullestiu@ssayb.
(1) srey @evawiy a@éi@

(2) aer B

Q) s 5 s

(1) Poerams G4

(B) ), 3), (), (4)
D) 3), (1), (4), (2)

@A) (2, ), @), 3
@ ), (3), 2,1
(E) e GQsflweildvena
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2. Assertion [A]

Reason [R]

: i ial
In humans, individuals inherit Mitochondr
DNA strictly from their mothers.

i from

Therefore, the mtDNA sequences obtamel;i o
maternally related individuals such as a br o

~ and a sister (or) a mother and a daughter exactly

. ati in
match each other when there is no mutation

either of cases.

(A)  [A]is true but [R] is false
(B) Both [A] and [R] are true and [R] is the correct explanation

of [A]

©) [A]is false, [R] is true
(D) Both [A] and [R] are true, but [R] is not the correct explanation

of [A]

(E) Answer not known

gapm {A]

smyenid [R]

wafilsisafley  wnAwd el CLrsram Mud mtDNA
el Gleum(meu(mLw SmIGeT ST (b Quibms
Qarerdlpriger. ;

mtDNA-aw Sl 8l sCangyir WHmib
&(Basrrgﬂ&aﬂn.(%mrr.- DHORG  gmi wODIL  waselL o
Boisraid @  wrHpb Qoomved Gy wrdflwrec
Qupm&Qameraremip. _

(A4)  [A] #fl game [R] seugy

By [A] wpgw [R] & wpgd [R], [Alepsrer sfuime Aerésih

(€ [A] saug [R] &

(D) [A] wpgd [R] &M, wyemme [R], [A]aﬁggsrrm sfluner eflerssin Qoea
(E) efeor QsAucidma
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In IVF technique, fusion of
¢ Sperm and ovum t :
akes place in

(A) Vagina

(B) Fallopian tube
(C) Culture medium

(D) Uterus

(E) * Answer not known

IVF peopde epsapab AT @aemeug Geraumaarelppled e

poLQuUpIEDS ?

(A) Gurafils @Qﬂ'u';l
(B) auGamiSwer G
(G) e 2L &

(D) smueu

(E) oen O fweiidrerd



4. Choose the right matches among type

; i 1 ovement of
The methods employed in micro propagatlon and 1mpr
tree species are
& e oo .. -
(1)  Clonal multiplication —  Prosopis cinerari

(2) Protop]ast culture and ' = Dalbergia sisso

genetic engineering

(3) By somatic embryogenesis =~ Cupressus arizonica
(4) Germplasm conservation —  Tectona grandis

(A) (1) and (3) correct (B) (1) and (4) correct
(C) (2) and (3) correct (D) (3) and (4) corréct

(E) Answer not known

Essam_cunde sfwimer Llmarenwis et (H191q S&eyLh.
@W&CTT LUFLILYSE® WHmID Wiy Qeamigsamer Cubu@EsgIb e

(1)  @Camrare Qumss QL) —  YCrrGemAsv AefGruwir

(2) yGrreCur Germeivr QuaiTLILy = Lmeurslwur s

wHYIL wrugy QurBludwed apeap

(3) &;cﬁlmcb &( a@mrrézal.b - Gurmwe oNCsrafar
(4) QgirbQerrsnd LINGIETLIL =  QL&CLrenr Hyresriq 6v
A) (1) wpmo (3) & - (B) (1) wpmib (4) &
© (@) vy (3) s D) (3) wpmws (4) M

(E) ofenL QsfAwefdrena
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Which of the following is incorrectly paired?

(i) Atal Tinkering Lab -

(i1) Krishi Neev =

(i11) Palna o

(iv) Unnati o

(A) (iv) only
(C) (iii) only
(E) Answer not known

Nurtures an innovative mindset
towards research amongst high
school students

Platform to promote technology
interventions in agriculture
Provides support service like safe
accommodation and Medical
assistance to working women

Technology platform integrated
with artificial intelligence to match
job providers with seekers

(B) (1) and (ii) only

(D) (i) and (iv) only

Gearaumeuaaubld argy geupra @aa@réstuGdrag?

() od gisfd leuasb —
(1)) Afaf fa -
(1) wdemn -

(iv) o aad -

(AN (iv) @b
(C) (i) wr@w
() e Qafuadldea

ewifeow udel uvreratseiieoLCu
ymbsfasrer ygyewwne warflaau
auarté&pgy

Aeasmusdd QAzmfd B U
smauiPsaa exbEaliEd gend
veflyfluyw QuensEsdEu ungarauner
shigliL  whpd LEsze  egdl
Gunep sTas Ceaauzaen
aptEAng

Cauere CaPueauias@nL.en Carma
apreuatsmens Qurmis Gsupos
penaha e emudmarssiulL
Asmopiug send

(B) () wpgd (ii) w G
(D) (i) wpgd (iv) wE®
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6.  Match the following :
(a) Hydrogen bomb

(b) Power reactor

(c) Magnetic confinement of
plasma

(d) Atom bomb

(@ ) (@ @
(A) 2 1 4
B) 1 3 4
(C) 3 4 1
(D) 4 3 2
(E) Answer not known

= N N W

Qereumpeuencupenn Qurmsss :
(a) eanCygdr Gem®

(b) Aper o aa

() Qermevwnellen smbgedwd
DL &S 6D

(d) signGaEd

@ ) @© (@
A 2 1 4
B) 1 3 4 .
(C) 3 4 1
In 4 3 2
(E) e Qsfwedera

'_'M[OOJ

GST2AM/2025

Uncontrolled nuclear
fission reaction

Controlled fusion reaction

Controlled fission reaction

Fission - Fusion reaction

SLOUUTLDD Sigmidsm
Yenay efener

sLhuubssuul L @eanay

. eflenen

SLOUUESSLULL Digssm
Yerey eflener

DigIbem eray - Qeoamray
eSlenas

TR .
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Which of the following

1s/are correct about Dip-Pen Nano

Lithography (DPN)?

@)
(i)
(111)
(iv)
(&)
©)
(E)

It is a direct method
It works on diffusion through water molecules

It patterns a variety of materials

It is a fast scanning process

(1) only (B) (11) only
(1), (11) and (ii1) only (D) all of the above

Answer not known

G eireu(meuaTeubBled g/ eremau gl Guenm prCarm gGsméyma (DPN) upg

sflwuneTeneu ?

i) Qs oo Cony GoD

(i) Qg seTaivg (PEEISET LITOUSD apatd Caime QelISns)
(i) @& vaGeaugut QumpLsafllan GulgaUBIEMET Uy ma

iv) @& G <15 Caus vGse Qewd D

(A) (i) wrEw (B) (ii) wr@w

(C) (1), (1) wHmd (i11) Lol;(»,\lb (B GupsmPlu Si@erdgib
(B) oferr Qpfweiicoeme |
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The primary objective of Global One-Stop Centres (OSCg)

established by Ministry of external affairs is

(A)  Promote student and faculty exchange programme

(B)  Facilitate research and development among Higher Education
Institutions

(C) Provide comprehensive assistance to women in vulnerable
situations

(D) Support Indian students studying abroad during crisis

(E) Answer not known
3

Spfu Qauefypays GOD HAmwssssend Aneutul L o esamdy S
Ppgs ewvwuiseia (0SCs) apsdrap Cprésb

(A)  wremesr whpib AMwr ufwrh Al gang eégelliughans

(B) ewir sded PoeatsaiaCu RIS whmub Cubum e,
acflgnés

(Op undlésiu b w Gpfoatld o grar Quaﬁm@&@ eflfleunan
e gellsaer apiss

(D) Apmésg Qe Cungy Qauelipmiy g UgdGh @bdHu oneTeuts @na s,
2sreuaiiés

(E) e Qsfludoms

GST2AM/2025 10 o



Arranging chronological order/event type

Arrange the following poverty alleviation programmes in

chronological order

(1) Sampoorna Grameen Rozgar Yojana
(2) Swarnajayanthi Gram Swarozgar Yojana
(3) Integrated Rural Development Project

(4) Food for Work Program

A) (1), (2), (3), ) (B) (4), (3), (2), (1)
€) (2), @, 3), 1) . (D) 3), 4), (1), (2)

(E) Answer not known
EpsaaL Hepasemer sroaflesliu(bs5)6.
Qemaumd aupientd @PIuy Sl Lhisemar sreafasliuly. @(pEGUOSSD

(1) sy fer HymbSer Cyrevsit GuirgarT

(2) veuiar@Qgupd Hymd eveuGrmevai Guimget

() gouioanps s cueTédlg S b

(4) Comasstar eaeap HLLD

A) (1), (2), (3), 4 (B) (4),(3), (2), (1)

@) (2), (@), 3), 1) D) (3), 4, (1), (2)

(E) o9en Qgrﬂmaﬂ@mw

t: 11 GST2AM/ 20%5
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10.  Assertion [A] : The lack of alternate employment, skill tljaining
(or) credit facilities for women, is anothey factop

that keeps them in poverty.

Reason [R] : Poverty is increasingly becoming a feminine
identity.
(A) [A] is true but [R] is false

~ (B) Both [A] and [R] are true and [R] is the correct explanation
of [A]

(C) [A]is false but [R] is true

(D) Both [A] and [R] are true, but [R] is not correct explanation of
[A]

(E) Answer not known

samm [A] * Queansenssmer wrHm - Cauee  eminy, e LWQHA

BDNG  sLeT  qusd Qoenss  weursmar umienoulleh
UGS (&G LD wHEDm(H smyestlumsb.

smamd [R] '  amewn Qsmiiibg  Queamesfly

SdLwnenons
uBApg.
(A) [A] camrenwo e [R] geumy

(B) [A] wpmw [R] @rear@iw o a@menw, [R] eTehTLIg) [A] lparar sMwunar
- eflenéaLb
(O [A] seugy yammed [R] 2 amenio

D) [A] wppw [R] @rem@w 2 anenis <eme [R] aetug [AleQbhaner
sflurer aQeréasn e

(E) der Osfueicvae

GST2AM/2025 12
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11.

T

Article of the Indian Constitution Prohibits the

. ) y ) : . . .
employment of children in Factories, Mines, or any other hazardous

occupation,

(A)

(B)
©
D)

(E)

21 A

24

39

Answer not known

@pfu smgfluewinded 9flay. Azmfpsraasd, srhstisd

sbogy Cap aps gugsrar Qpmidigid @gmm@mm Camads

Swisgamss soL Qeudpg.

(A)

21 A

(By 24

(€)
(D)

(E)

I |

39

AL Gpfudtidae
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12, Match the schemes with years.
(a) Neengal Nalama
(b) Manu Needhi
(¢) Kural Mutrodhal
(d) Illam Thedi Kalvi

@ ® @© @

(A) 2 3 4 1
(B) 1 2 3 4
(©) 3 4 1 2
D) 4 1 2 3

(E) Answer not known

Epssngnid AL tismer Sipshs QL bgLdr Qummsss.
1 8

(a) grusdr pown

(b) wvey §A

() oo whCorgd
(d) @oaw Csy sded

@ G © @
(A) 2 3 4
B) 1 2 3
(& 3 4 1
(D) 4 1 2
(E) <o Gsfludldme

W N &

GST2AM/2025 14
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2000
2021
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2000
2021
2024
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13.

Tamil Nadu skill development corporations established a new
platform by using AI Technology to guide the youth’s employment

and skill training is called as

(A) ‘Inaya’

(B) ‘Ilaya’

© 'Naa'n Mudhalvan’

(D) ‘You are your own king’ Scheme

(E) Answer not known

SBPEIE Hpar CubuI s spsid Gswpems panarlas Gsmold B UgSen

PPLONE Ean6T@EhiaEhéE Geauee eumiitiL HLD Hper LIPS aPar

SIMWEGSILL L 6(H SETLD

@A) ‘Qaens

B) Qe

(©) ‘pren pmireses’

D) ‘BGw 2ané@ yrgT L

(E) e Qaflweildberer

15 GST2AM/2025
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14. state has the highest percentage of unemploymey
during the year 2022-23.
(A) Kerala (B) Haryana
(C) Punjab (D) Tamil Nadu
(E) Answer not known

a
wrfleown  2022-23 sansQs@uder  Gumgy s

Couamarufenanio alldlgid Qamar wnble.
(A) Gagerm (B) enfwmrenm
(C) ugpsmu ' (DR sOPpBErE
(E) e Qsfludlovame

15. The Total Gross Enrollment Ratio of Tamil Nadu in higher-E
education during 2021-2022 was |
(A) 45 percent ' (B) 46 percent
(C) 47 percent | (D) 48 percent
(E) Answer not known
2021-2022 b soefl HTLg €D 5@@5"'—1&-5‘3 2 Wi sdeli uuﬁ]w@mmﬂw
Gurgpt USal s,
(A) 45 sgadgw (B) 46 SN

47 5508 s

(E) &err Gsfweldanc

GST2AM/2025 16 =




16. Which of the following credit schemes for Farmers Producers

Organisations (FPOs) is incorrectly paired?

1L

@)

(ii)
(111)
(iv)

(A)
(©€)
(E)

Credit guarantee scheme
Mezzanine capital assistance

Revolving fund support

Nabkisan

(1) and (iv)
(111) and (iv)

Answer not known

Direct cash grants
Non repayable credit
Concessional credit

Initiates credit schemes.

with T.N.

B) @) and (i)
(D) (ii) and (iii)

eusmilser e pusgdunert sewlGpstar Deaeumb sLer SiLksald eg

FEUDTS @)enawrésIUL (HaTeng) ?

(1)
(11)
(iii?
(1v)

(A)
©)
(E)

sL& 2 S5Teungs S LLb
Quevevrenaner ppuger 2 sl
s HIEl psrel

Bl gme

(1) wpmd (1v)
(i1i) whHmd (1v)

e @g,rﬂu_laﬁkbmm

17

Cpyyg ver B

Hmas Cegsspywns &L e
FQING &L_6o

SIDEIE SirsLdn Qaeanbs
aLen gL msmens

QewduB g He0

B) () womb (i1)

(D) (i) wpguw (i)

GST2AM/2025
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17. Which of the following statements are

True about features of Tami]

Nadu Economy?

@)
(1)
(iii)

(A)
(B)
©)
(D)
(E)

Tamil Nadu has 7th highest GSDP per capita

Tamil Nadu has low industries and small service sectors
Tamil Nadu is second largest economy among the states in |

India

(i) only

(i) and (ii) only
(111) only

(ii) and (iii) only

Answer not known

sAPpp16 Qunmamstrddar @uoysmants LHBL Qereumd sappseia ag |

o_GEIELD ?

(1) gacvyQ selipui amorasdd sObsrR 7- y .
o dransy SWIHBHTEH ugl o wihs @ELsde

(i)  sOPEIR G QAsmAdad -
Qa;r:ii@drmz Rl LHmID Iéﬂﬂ)! GCeamaug giopsaad

(lll) @jf)@luﬁﬁfﬂd) 2_drer mnﬂwm&;aﬂ. . .
Gun@mnﬁnggmﬁ 2 @Lwg . _§’L&¥95ﬂ® @Umﬂ_nm@ Qufiu

Q) () weEn

(B) () wpgud (i) wr i

(C) (i1) weEb

D (1) wpmd (1) weEw

(E) HenL Qzflwelldena

GST2AM/2025
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17. Which of the following statements are

True about features of Tamj)

Nadu Economy?

@)
(i1)
(iii)

A)
(B)
(©)
(D)
(E)

Tamil Nadu has 7% highest GSDP per capita -
Tamil Nadu has low industries and small service sectors
Tamil Nadu is second largest economy among the states in

India

(1) only

(1) and (i1) only
(111) only

(i) and (iii) only

Answer not known

sOPETH Qurmangnsder @ueysmant uHBlw Geraumb sapmpseiia ag
2_enLn ?

(1)
(ii)
(iii)
(A)
(B)
(®)

%)
(E)

GST2AM/2025

gﬁ]c.ra'mqlﬂ paflpulr eubrarsSd sODBTH  T-cugy o wihs @i
o_dreng)

sOPETE  GopHs QAsmbdsd '
Qanam@drang e Cpmpdsdr wppib _‘ﬂml Csamaug gropsacs

QpHunallds  oerer  1omgf
Gurt@mrrgnqgmg; 2 L wigy

wiisalld  s8pmrE Beamneug Gufiv
(1) LnL'_GLb

(i). whmib (11) wi G

(111) wr Hw

(1) wpmo (1ii) v Ao

e QzAlwedrene

18
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18. Match the following climate conferences with respective themes.

(a) Kyoto protocol
(b) Rio Earth summit

(¢) Paris Agreement

(d) Montreal protocol

(@ () (o) (d)
@A 2 3 1 4
(B) 4 2 3 1
(C) 4 3 1 2
D) 2 1 4 3

Answer not known

(E)

Ii;
2.
3.

Limit global temperature rise
Protecting Ozone layer

Global Framework for sustainable

development

Commitment to reduce emissions

Qereu(mb sTOHmE WIFTHSDETLD g FNihS &(HSMSULD Qummsgis.

(a) ACum _GLr ApdHlaperm

®)
©

AGwm Ll 2 &8 wrpr®
urflev @UUBSLD

(d) wrew fo Gpdapern

® (© (@

S 4

(a)
A) 2 4
(B) 4 2 3 1
(C) 4 3 1 2
Dn 2 1 4 3
(E) efen Ggflweiidera

[

1.

2.
3.

2 @& Qeuliuflene 2 wieney
SLOLUSEED
@Caner LLOGMS LNGIETSSED

Hlencowimer cueTidd&amer o & armeiliwl

- slLenwly

19

o Iflpereu GepLILBDETEr Siflueiiiiy
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19. Assertion [A]

Reason [R]

ked a significant milestone in gloha) |

COP28 mar o
g for a transition |

climate action by explicitly callin
away from fossil fuels.

The Global stocktake, a key component of the |

Paris Agreement, highlighted the urgent need to |

accelerate climate action.

(A) Both [A] and [R] are true, and [R] is the correct explanation

of [A]

(B) Both [A] and [R] are true, but [R] is not the correct explanation

of [A]

(C) [A]is true, but [R] is false
(D) [A]is false, but [R] is true
(E) Answer not known

sapmy [A]

smyesnd [R]

ugw aflQurmasalldmisy o@m Slods wrppsdpsna
QaciliiueLwrer si@epulend cosardlu stofo

pragsas@d, COP28, gn @iuldgsss evdsodaw
S bsg). ;

urfléd  @uupssleér  Wsdw smswrer  GCeTTud
dLrsCLs,  sreofeoe pLagsmseou His0ubis

Cagmu sasgh Comauaw aRigariss.

(% [A] vppw [R] @ren@d earenw, Cogib [R] erarug [A] @ar sflwner
eflaréswn@h

(B) [A] wppw [R] @renPw e arew, emd [R] aaug [A] Qe sfwner

dlargswd

(©) [A) eamaw, e [R] aarugy sauprag
(D) [A] géug saprarg, sema [R] edugy o drawn
(E) e Gsfluddoee

GST2AM/2025
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20. The threatened species found in the Agasthiayamalai Biosphere
Reserve are

(1)
(i1)
(iii)

(A)
(B)
©
(D)
(E)

Lion-tailed macaque, slender loris and great pied hornbill
Rudraksh tree, black plums, wild dahman and gaub tree

Slender loris, lion-tailed macaque, black plums rudraksh tree

and green pit viper

(1) and (11) only
(ii) and (iii) only
(111) and (1) only
(i), (i) and (iii)

Answer not known -

ssdHuvee 2 ulisCaras sTIUSSHD steTLU@L  Siflhg  eumLD

@ EIGET ETETLIENGU

(1)
(11)
(iii)

(A)
(B)
©
(§94)
(E)

Hrusand Grg. dvaan i Gorfley, Quilu eulc e miremiSle
mSHTTLE WID, SHUY \QeTib, ST LQDLOMEN, WHmID &L DI
Quadu Ceonfley, flsurd GIwEG. SMHUY e, @‘&,URL& DT,

hmb LFss G @

(i) wpmb (1) wLLEEWD

(ii) wpmb (111) L BD
(iii) wpmpb (1) LEEW
@), (ii) wppbd (111)
Mev_ Qﬁrﬂu_:aﬁld)anm

21 : GST2AM/20256
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21.  Consider the following statements.

' ts
(a) Forests regulate ﬂood]s ;lnd f:oqli-il;ost S —
Almost 10% of tropical fores i - |
((E)) Nearly 47% of forests Worldwide are tropical forests

’ tected areas
(d) 45% of the World’s forest are under pro

The correct statements are :
(A) (b) and (c)
(C) (a) and (c)

. (E) Answer not known

(B) (a), (b) and (c)
(D) (c) and (d)

Yereumib <yflémasemars smsdled Qanens. |

(a) eermisdr Qeudgrand HID eupl enw RUPBGUOSgHSldiner

(b)  gaQanrm  aumLapb, diigsl. 10% Qeuliuwer o S ([Dae
Busstiu@dermen - _

(©) e @Qsudad o drer srRsan AlLgs L 47%

2B
(d) oofar 45% STOSET UTHSTESILLL LGHaalld o drarar

Qauliuwest o srfss

sfluner sfsamasdr aeruamey :

(A)  (b) wpmw (c) B) (a), (b) wpgyw (c)
(C) (a) wppid (c) (D) (¢) whpw (d)
(E) eeoL Qsfueldma
22, - satellite was sent by ISRO on 1st January 2024 to
study cosmic X rays. _ _
(A) ASTROSAT ®) Aditya - 1
(C) Chandrayan < 1 (D) Xposat

(E) Answer not known

(A)  <evl Coram (B) Skl

. =
(O spfyun 1 (D) TECUremr
(E) &L Gsfuciavame

GST2AM/2025 -



23. Central salt and marine chemicals Research Institute is located at

(A) Cochin (B) Chennai
(C) Bhavnagar (D) Narimam;m

(E) Answer not known

wHEHW 2 Uiy wHHID SLO < ymiiss Hoeuand eThiE DIOHEIETTE) ?
(A) Qarsen (B) Qscneven
(C) u@,‘_ﬁggfr (D} !I)lﬂLDGUD’TLb

(E) e Qgflweldeme

24. Clean Air Act was passed in the year

(A) 1970 (B) 1972
(C) 1969 (D) 1980

(E) Answer not known

F&gonen sNHME FLLLD HerpCouppriv L e

(A) 1970 (B) 1972

(C) 1969 (Dy» 1980

(E) e Qpflweiicdrae

11
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25. Match the following Bird Sancture

(a)
(b)
(c)
(d)

A)
(B)
(©)
(D)
(E)

Getaumid LD@USKET FTETTOWSMS DHSET wreuLggiLer Qummasab :

(a) GG_UL:_L_GBT@L‘}_
(b) wwrr CemLib
(¢) QeauerCemn()
(d) sapQauryg
(@  (b)
(A) 4 3
B 1 2
(Ch 1 3
D) 3 2

(E) Qe Qﬁmu"eﬂ]@mm

Bird Sancturies

Vettangudi
Mayura Thottam
Vellode
Karaivetti
(@  (b)

4 3

1 2

1 3

3 2

Answer not known

LDEeusET sremmeib

GST2AM/2025

(c)

2
3
4
1

(c)

2
3
4
1

(d)

N -

(d)

BN WA

- W N
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¢ with their districts :
Districts
Sivagangai

Ariyalur
Thoothukudi

Erode

DMEUL_L_MBI&ET
Seustuans
<iflwgnd
&N5516E).
rGrnE)

"
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. 26.

1]

Arrange the following periods in order :

(1)
(2)
(3)
(4)

(A)
(B)
(&)
(D)
(E)

Geraumib STOHSMET (papuiLliy afl@stuBigs

(1)
(2)
3)
4)

(A)

- (B)

Prehistoric period
Chola’s period
Sangam period

Pallava's period

(1), (4), 3), (2)
(2), (4), (1), 3)
(1), 3), (4), (2)
(2), 3), (4), (1)

Answer not known

mqmﬂD@&@ G,OJDUl._L. smeub
Csmpft &meub
grius smeutb

udeeulr &rew

(1), (4), (3), (2)
@), (4), (1), 3

©n (1), (3), @, @

(D)
(E)

(), (3), @), (1)
SHeoL. Gpflweidead
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.

sedition, was sentg,
Ceq ||
L!

v.0.C charged with
ment.

forty years of imprison

nded Surat Congress session anq f
his philosophy. 011

27. Assertion [A]

Reason [R] :  He atte
Tilak and preached

(A) [A]is true, [R] is false
(B) Both [A] and [R] are true and [R] 1s the correct explangat;
10p
gl

[A]
(C) Both [A] and [R] are true and [R] is not the correct explapg; |
nat]g

of [A]
(D) . [A] is false, [R] is true
(E) Answer not known

&D A . o 5. E
o [A] . e flég Gses  gGmes GHOL &gy,
) 40 gye@rhisar é]m,mg,g,as'm_mm ffsariuc Lgy. S
STTeRTLD P ?
[R] : G&Us LM Re sobgy Cdstar@® Jeoso

pEEIUsDS SN . Lﬂm”ﬂ“

(A) [A]sA, [R] saup |
©) [A} i”’g’““’ [R] @rnGid o), Gogd [R], [Alar sfuner clersaones
DOILD [R] @rem@w &, Gmg,m [R] [A]an gmm”m o "o L

QT&ESD D |

BN [A] saum. [R] &
(E) oL Asfwusdame |

28. IS ’ :’

(A) Bombay B)
Surat

(C) Lahore
(E) Answer not known (D) Calcutta f

QU@T& = i i l] m&m !1"
@5&;”@“—1 Umaﬂa)u_l H-d’DQJI.l G‘T_F)‘@ QS]‘Q.-)UJ g I-I £5] Gﬁ] LD
& w @ ak

(A) ubumi .
- B e

(O, emsar
(E) e Qsfweldena | ®) sQEsE |

e |
e |

GST2AM/2025
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29. What have to be realized if you want to overcome the ignorance and

11

feel healthy?

(A)

B)

(©)

(D)

(E)

Be aware and believe on the immaculate truth

Duty concious
Karmic Action
Medicinal knowledge

Answer not known

Sifwrew s pob Cererpib eriGuimg) ?

(AN vwssb Agalpg wIEHO o T 2GRS

(B)

(€)

(D)

(E)

sLenwew CFlse

g Gewed

WUEERY <ifley

Ao Qpfluciidens

27 GST2AM/2025
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30. Match the following :
(a) Justice Party
(b) D.M.K.

(c) Dravida Kazhagam
(d) Self Respect Movement

@& ® @© @

A) 4 1 3 2
(B) 2 4 1 3
(C) 3 1 2 4
D) 3 1 4 2

(E) Answer not known

sflunar el ows QuiEbss Asws :
(a) fhaa 4

b)) £.qp.s.

(c) QunsﬁTL_r'r &P&Lb

(d) swollures Auaswn

@ ® @© @

A) 4 1 3 2
(B) 2 4 1 3
(O 3 1 2 4
(D) 3 1 4 2

(E) e Gsfucddame

GST2AM/2025 _ 28
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1949
1944
1916

1925

1949
1944
1916
1925

"



31. The first state level meet of self respect movement was conducted at
which place?
(A) Chengalpet
(B) Madurai
(C) Chennai
(D) Kovai |

(E) Answer not known

swoflutag GubssHdr Apsd wrfle  siarefloner saliib eps G pHd

PLSBILLL5?
(An G#rmmuu_(b\
(B) wgey

(C) Qaanenen
(D) Garecu

(E) e Qpflucidvea

T

29 '
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32. Which one of the following statements is/are wrong regardin,

Edward Clive, the Governor of Madras Presidency?

(A) He usurped the regime of Nawab of Arcot
(B) He abolished the poligar system

(C) During his tenure, the supreme court of judicature in madras

was founded

(D) He did not show interest in the letter of Veera Pandya

Kattabomman stating the insult inflicted on him by Collector |

Jackson

(E) Answer not known

Qsdrenen wranempHen @B erlcuit. fenarcy G&Dss QanpQprisaid
eTgl/eTency geupneng) ?

(A)  pen® paumedn sigests uflpss Qaramint
(B)  ureewssny 8 papow giflsst

(C) Qserawené seowew Fdwdpd Baumaer_w KL 8lEsnsHd
PpesulLg
(D) sQuéLi grasen, searear Slawreruu@ sl Lgrs elunamgw

sCL Qumbwer  erpdw augsdhEe alafl  Heara By, freutb
&ML elidere

(E) &fer Qsflwualdera

a

GST2AM/2025 30
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33.

T

Choose the right matches.

(1) Bankim Chandra Chatterjee -
(2) Lord Minto _ -
(3) Swadeshi -
(4) Lala Lajpat Rai : -

(A) (1) and (3) correct
(B) (1) and (2) correct
(©) | (1) and (4) correct
(D) (4) and (3) correct
(E) Answer not known

sfluner QurEsssans sy

(1) urdb spdy srLig] -
(2) BerGLm Gy =
(3) &Cs& -

(4) erer ogud g

& (1) wppid (3) &
B) (1) wppi> (@) of
©) (1) wppd (4) &
(D) (4) wppd (3) &
(E) el Qg flueidoa

31

Anandmath
Madras

VOC
The National Council of

Education

& HG L LD
Q&s&ra)aﬂ |
.o .8

sacilsasrar Csélu sa&b

GST2AM/2026
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34. Match the following :
(a) Madras Medical School
(b) Madras Presidency College

1
2

(¢) Madras Christian College 3. 1842
4. 1840

1837
1835

(d) Pachayappas College

@ ® @© @
4a) 2 1 4
(B) 2 4 1.
(C) 2 4 3
(D) 4 3 2

(E) Answer not known

Ll -

Yereu(meuareuphenmL Qunmpsss

| (a) Quigmev wmSgeL LaTaf 1. 1837
(b) Quigrev ArAQLES soarf 2. 1835
() Quignev Aflevgieus sognfl 3. 1842
(d) usamswiuTey HogN 4. 1840

@ b @ (@

(AN 2 1 4 3
(B) 2 4 1 3
© 2 4 3 1
. (D) 4 3 2 1

(E) oler Qsflwefcdrens

GST2AM/2025 32



35. Who among the following was appointed as the Zamindar of

Ramnad by East India Company in the place of Muthu Ramalinga

Sethupathi?

(A) Mangaleswari Nachiyar

(B) Maruthu Pandiyar

(C) Raja Udaiyappa Sethupathi
(D) Raghunatha Sethupathi II

(E) Answer not known

&gpasﬁm_.eur'ra;aﬂei) ; @géqnmmﬂma Cogudée uvdors LpsE QbIHw
sbeuefurd yrbpriger gldagmyrs HublésiurLalr wm?

(A) wriusCaaveufl Hrefwm

(B) wmg uramgwi

(O gy e Wiy G&g,u.ig‘,]

(D) @rawrLmd gEprs Gogud

(E) ofenL Ozsfweildvene

LI
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h and Reason and choose the corrg,

36. Read the following Assertio
answer from the code given below.
Assertion [A] : Anwar-ud-Din, the Nawab of (?arnatlc Sent g
army to fight against the French in 1746.

" Reason [R] Dupleix, the French Governor, failed to keep th,
promise of surrendering Madras to Nawab afte,
its recapture.

Code :
(A) [A] is true but [R] is false
(B) Both [A] and [R] are true and [R] 1s the correct explanation
of [A]
(C) [A] is false but [R] is true o
(D) Both [A] and [R] are true but [R] 1s not the correct explanation
of [A]
(E) Answer not known
Qereu@md  sapedpud, STFETSEDSLLD upsgs &GP  Qsn@ssuul @
NS mbg sllurar udoas CaibllsbHss6 .
a@‘@uneﬁ spm [A] @ siBT_s&TEN6N 'r_r,eurrﬁ N 2 galdr
' 9Aygrssamismar afisgn GuriL 17460 ¢
uenLew elnermir.
STyemTid [R] : Quigrev estiupprul L GpE iews paridld
QGQWI—QGUQ‘T aam  eund@mdenwiLs 19Q7Eps
seaufrart flenpCGouhmg seue L mi.
&HUG -
(A) [A] M gyeame [R] seugy
(Bn [Alw;ﬁ@m [R] @yam@n &M, Gugud [R] crarug [Alan aflure
(C) [A] seuy <pame [R] &M
2 Lé#éﬁﬁgjmg{] Qrem@ &M, emed [R] eremug [Alar sl
(E) e Qgflwualdene
GST2AM/2025 - 34 c




e
=

Match the constitutional amendments to their corresponding acts

correctly.
Amendment
(a) 91 Amendment Act 1.

(b) 10274 Amendment Act - 2.
(¢) 105** Amendment Act 3.

(d) 106t Amendment Act 4.

@ ® © @
1 4 2

Subject matter

The council of Ministers must
contain no more than 15% of the
Lok Sabha members, including the
Prime Minister

Women are given one-third of all
seats in the Lok Sabha

It grants constitutional status to
the National Commission for
Backward classes

The state government is empowered
again to identify and specify socially
and economically backward classes

(A) 3

(B) 2 1 3 4

) 4 1 3 2

(D) 1 3 4 2

(E) Answer not known

srflueenliys  dopsmsmar  Sapdlear  AgmuiyeLw Hmsss

sl @yLer sflwnsls QUGB mser.

Smszb QummeTL_&&1b

(a) 9oz Hmsss sd 1. siowssisd Gpeiled Qg

o luL  wsaen 2 pulerisefid

(b) 102.gpcug Hmpes sLL1d 2.

(c) 105zpeugy Hmpps sLL b 3.

(d) 106=peuz Ampss s 4.

@ G © @
A) 1 4 2 3
® 2 1 3 4
(C) 4 1 3 2
Dy 1 3 4 2
(E) e Qzflwelldhena

15 efsan®&E@ Cud Q) mésssnng
wisaaid  QuansEns el
G UG @Lruser mpg&u%@tgp o
& Ghu@ssuulL aEulermaster
58w openermwbSh aqé\mm%ﬂqﬁ
pEHooOU uphESDng)

LI HmILD Qurmarngnysdld
el e utﬁlmmqé;@ ezsgn_ﬁgbgj
%115]1-“5]@& Sglsmyd wife  STEsE
(b cuprugLC(hererg

GST2AMI2025
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38. Which of the following st
Diaspora Day?

" The Chief Minister of Tamil Nadu de

®)

(i1)

(111)

(A)

(B)
©)

D)

(E)

atements 1S true about World Tam;

clared January 12 ,

World Tamil Diaspora Day

The Diaspora Tamils confer
the theme of ‘we will win’

Rs. 5 crore has been sanctioned for the establis}.m.lent. of Tamj]
amil to Tamils hvmg in foreigy

ence was successfully held, wit,

Parapurai Kazhagam to teach T
countries.

(1) only

(1) and (iii) only

(1) and (ii) only

(i1) and (iii) only
Answer not known

2 wsg FOIP YeowQuwi prer updlu Wereumb Fmhmisailcd eTg 2 amranto ?

() sYYs soowssr eisdr maeufl 12-5 2 ws yobQuwr sdh
Sarnong hleilgsmi.

(i) ‘pmd QadGeumd’ eremp s@HUAUTEBEELE YobQuwir sBlpiser oM
Smuiuns perLQubpg. ' d

(il1) Qeuefipr@safler eumepp slpia@sss s0h shss sWOPDL LFLILDT
&P&D SiLLEHEG 0. & Camg @gssR Qewtiuc Hererg.

(A) () wiEw

BN (i) wpgid ({ii) wr G |

© () wppid () v G

(D) (i) wopgbd (iii) wL b

(E) oo Qzfweldere

GST2AM/2025 © 36 =



39. Which of the following is correctly paired?

(1)
2
3)

4)

(A)
(B)
(€)
(D)
(E)

Manjusha Kanwar

Vineet Kumar Sharma

Kavitha Selvaraj

R. Vaishali

(2) and (4) are correct
(1) and (3) are correct
(3) and (4) are correct
(1) and (2) are correct

Answer not known

—' Badminton

- Chess

—  Kabaddi
—  Hockey

S p&QanPssuu_apper Qurmssorar Qearmwd CoibAshéaa)b.

(1)

@)

(3)
(4)

(A)
(B)
(C)

LDEHEQNT SetTauT
edaig @it agpim
salgm Gedeurrey

R. eeuagmed

(2) wppid (4) &f
(1) wppud (3) &
(3) wpgid (4) &

DY (1) wpgid (2) &f

(E)

fen Qgflweiidene

-_—

@pEl upsTLL LD
88| TTRISLD
&llg

anré&

37 GST2AM/2025
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40. Match the following :
Schemes
(a) Naan Mudalvan
(b) Pudumai pen
(¢) Vidiyal Payanam

(d) Makkaludan Mudhalvar

(@ b)) (© @
(A) 3 4 1 2
(B) 4 3 2 1
(C) 1 2 3 4
D) 4 1 2 3
(E) Answer not known
Qunmisa

Al adr

(@) prenr gpsdeuen

(b) ygiew Quer
() lgwe vwemrb

(d) wés@Er_er aba

(@ ® @ @
(A) 3 4 1 9
B4 3 2 1
(C) 1 2 3 4
D) 4 1 2 3
(E) oflen QafNwedena

GST2AM/2025

4.

38

Beneficiaries
Public Grievances gets resolyeg

Women Empowerment
Education Assistance for Gin
Students

Skill Development

vwerraflger
QAuiginssdr  Gopsdr @owmsd
SiésliuPeug

Lorerrells @né@; sded
e gellwaligsa

Emeir Cuobur®



41.

Find

out the correct statements about the functions of

District Collector.,

(1)
(i1)
(111)
)
(B)
(C)

D)
(K)

He handles work pertaining to civil defence
He supervises the Municipal Administration in the District

He presides over the District plan Implementation Committee

(1) and (ii) only
(i1) only |
(1) and (iii) only
(1), (i1) and (iii)

Answer not known

wraL et wuflar vaflsar Qgmtuner Spssar smppssailsn sflwurama

eTemal ?

(i)
(i1)

(111)

(A)
(B)
(M

(D)
(E)

St Ggewl urgsriys Ogmiurer uaflsamar Guop@andrdpr.

et &t wreul L sHad o_drar B&TILD Bireunsgeans
CupunieeuuG&pmit

o wracl Sl Qsuersss @@aﬁlma@ sanawawGuihmy
aufipL gl

(i) wpmubd (1) wLED

(i1) wL @

(ii) wppud (iil) wC GO

@), (ii) wpgpid (i)

flaL Qsfluddaa

39 GST2AM/2025
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ri, ﬁ

42,

GST2AM/2025 40

Select the “odd one” out.

: ' the advant
Consider the statements below regarding ages 0

i 11 N
State Industries Promotion Corporation of Tamil Nadu (SIPCOT)

Limited.

(A)
(B)

©
(D)
(E)

It creates and maintains well-designed industrial parks
It facilitates the acquisition of land for industrial purposeg for

business

It serves as a single point contact for investors
It provides a range of loans and free electricity

Answer not known

sallgg CoumuEib getenps Csflay Qaws.

SOPBTH <ivs Azmie warCampns spagdlar (LsT) perenioser &g

EC o drer yfésmasamars &oeu el W rhgerT.

(A)

B)

8g penE ey euamLESLILL L Qemfloginn yrisrésemar o (meumsd
LgTwh& s,

QAemfler  Ameuermisesssns Pegemss @EWSLLQSSusHE @3
2 ga g

O @s B L mariig (e OOV CSTLILG Lereflwnss Qewdu® s
M @& voCauy ELGTSMETLD, @aeus \Wetremygenguib QUG D)

(E) e Qzsflwelcrena

"




43. Assertion [A] : The Chief Minister of Tamil Nadu has ordered

T

Rs. 5 Crore to translate all works of
Dr.B.R. Ambedkar.

Reason [R] : The translation works of Dr.B.R. Ambedkar into
Tamil will be carried out by the Information
Technology and Digital Service Department.
(A) [A]is true but [R] is false
(B) Both [A] and [R] are true; and [R] is the correct explanation
of [A] ‘
(C) [A] is false, [R] is true
(D) Both [A] and [R] are true, but [R] is not the correct explanation
of [A] is correct

(E) Answer not known

sapm [A] : bCussilar smaggL UL LyS@amy LD QurfQuuiés
. 5 Camg aupriis SRS pedai gyl Hidrarm.
smpamd [R] @ sewe Qsmflr mrud wppd y@lid Gemeausd geop
eLPGULD SbCuss e uenLLIL&er g0 fle
QurPfQuuissliuL 2 areng.
A) smpp [A] #l, garmd smamd [R] seup
(B} smpm. [A] wpmid sTyewd [R] @U@‘N@fﬁ sfl; wwHmb  STyeTD
[R], [A] &pmé& sflwmen eSleTédsid
(€) snppy [A] peup. smyamd [R] o
D) spp [A] wpgd smemd [R] @ran@o sfl, e smjemd
[R], [A] sap &S gflwrear eflerésod eetug sflwneng,

(E) efen Qzflwailcrena

ndl GST2AM/2025
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- end (or) aboligh
44. The power of the municipality 10 susp i

conferred by

(A)  Section ~ 110

(B) Section - 111

(C)  Section ~ 112

(D) Section - 113

(E) Answer not known
¢ wfou fssCan wovey IpploassCam psgmflies SiBars
wptiEd st nSfanans
(A) S9fa;—-110 ‘

(B) Sfa;-111

(C) 9fq~112

(DN Sflay ~ 113

(E) dac QsfludBidea

GST2AM/2025 -
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45.

T

Assertion [A] : A sccretary should be immersed in files and

burdened with routine

Reason [R] : It is essential that he should have time to grasp

(A) [A] is true but [R] is false
(B) Both [A] anq [R] are true; and [R] is the correct explanation
of [A]
(C) [A] is false, [R] is true
(D) Both [A] and [R] are true, but [R] is not the correct explanation
of [A] is correct '
(E) Answer not known
smpm [Al gm Qewemar Gamuuselles  <pphg LOHDD G
eu&&LOTET senwnsab Bmés Gaam@Lb.
snyenid [R] S TENEIESS 6T PLHCLES gL desmaryyb, erHiGasmer@hib
Qpéseansemanyb SaePaushEG DAUGESG ~ STOD
Amuusgl SjeudlwLb
@A) [A] st eme [R] s |
(BN [A] wppd [R] @ran®n &fl; wppd [A] 6@ [R] sflwnen elaréswor@o
©) [A] paugp. [R] & |
(D) [A] wppd [R] @ren® &, e [A] @ [R] sflunar claréswde
eramugl &
43 GST2AM/2025

the overall picture, size up the problems facing

the Government
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46.  Arrange the following committees in chronological order,

(1)
(2)
(3)
4)

(A)
(B)
©
(D)
(E)

G.V.K. Rao committee
Ashok mehta committee
Balwantrai Mehta committee

L.M. Singhvi committee

2,3, (1), (4

3), (2), (1), (4)
(4), (3), (1), @
(1), (4), (2), (3)

Answer not known

Slemau(mb &pssamar sTalflengiLig aflestiuBggs.

(1)
@
3)
@)

(A)

G.V.K. gre SW
2(Cens Cuogsm GW
Leeupsrmi Cuogsm @
L.M. imed @qp

@), (3), (1), (4) -

B (3), (2), (1), (4)

©)
(D)
(E)

4), (3), ), (2)
D), (4), 2), 3)
e QsMweldeana

GST2AM/2025 ' 44

—



47,

T

Choose the correct answer ‘

Which of the following statements are true about the Council of
Minister’s in State?

(1)  The Council of Ministers shall be collectively responsible to the
State Legislative Assembly

(i) The Governor shall administer the oath of office and secrecy to

a Minister

(iii) The salaries and allowances of State Ministers shall be

determined by the Union Legislature

A) (1) only correct (B) (1) and (ii) only correct
(C) (11) and (iii) only corréct ' (D) (i) and (ii1) only correct
(E) Answer not known

sflwrar allenLadwg Caiay Qs

l_fﬂa'néJ@Lb arsfluniseller wrHle @wéEstadar Db sfluner smmsaarng
Cairey Gaul. '

(i) wrfeo oe@wssisdr  wrHOF  sLL | waPsHbEs  smiLns

QumILePL WeUT&ET

(1) wrhle PWEFTEEHES WEHHT é@ﬁese'rr @rsdlu smiy whmib ugedLy
Qywred Gsig eveulim

-

(ii)) wrfeo s@wssiseldr Csadlamsd sg@ssaT WHmD Gp ugsemar
wgHw umym@swerpGL- Siorailsewb

(A) (i) wrEb & - (BN Q) wpyio (i) M

(€) (i) whm (iii) &M (D) () wpms (i) &M
(E) e Qsflucicena

15  GST2AM/2025
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48. Consider the following statements about the composition of the
House of the people.
(A) It shall be composed of not more than 20 representatives fy,,

the Un_ion Territories

(B) ‘It shall be composed of not more than 2. members of y,

Anglo-Indian community, nominated by the Prime Minister

(C) It shall be composed of not more than 552 representatives g

the state

l
]

(D) The President shall nominate 12 people having specialj

knowledge in Literature, Science, Art and Social Science.

(E) Answer not known

wésaemauuiler ey upHlu  Gereumb fémasamer uigss  aflwuner
Meassgang Csib0s@Bésab.

A) @& gadlu oy uedsaa @mibs 20 xﬂqﬁﬂﬁg,@a@ Blamod
@més Coua@®ib

(B) @& Qyswrmed Auflésuu@b c%rmé]@a)rr-@pgﬂu_:m sapagslar
2 2 p9eniis@pé @ WaTiod Bmss Cauan@ib '

©€) @8 vrfensdeo @ops 552 Wrdfde@rss Hamod Goss

Cauar(H b

(DN Qaosdw, Siflellwe, sae LODID seps ofeflwadd Apriy yoew
Qupp 12 puisener G WI&ESMGUT ufbgirrium

(E) e&fenr QsfAwefdwena

n
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49,

- (B) 2 4 1

Match,_LiSt-I with List-II and sclect the correct answer by using the
codes given below the list.

List — I (Writs) List — IT (Literal Meaning)
(a) Habeas Corpus 1. By what authority
(b) Mandamus 2. To be certified
(c) Certiorari 3. We command
(d) Quo Warranto 4. To have the body of

@ ® (@© (@
(A) 4 3 2 1
B) 2 4 1 3
e 3 . 4 i =i
M1 4 3 2
(E) Answer not known

EPQsrOssruGerer  uligwed I wppd  I-& e drerupen sfuns
Qurmpsgis. ‘

b guwed I T utiguwed T
(BHLCLTTenenT) (Cpyig. Qum(mer)
(8) gy Qsrawmia f 1. assmsw s@H o Mawo
LI TenemT o '
b) Qeugpssd 8 2. srampafiay
A o
© Opdgperp epsgd 3. GoandPsd
Guyrenewt
() se8 woop e 4. @it puey eEILESHED
Cuyrenanr |

@ @® @© @
(AN 4 3 2

©C) 3 4 1
D) 1 4 3
(E) ofen Qpfweiicvena

N DN W

47, y
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5 aia?
50. Which of the following statements are true:

() Parliament is empowered to constituteé & High Court for an

Union Territory.
(i) Of all the Union Territories, Delhi does not have a separgy,
High Court of its own.

(iii) Arunachal Pradesh and Mizoram became fullfledged states j,

1987.
(A) (ii) and (iii) only (B) (ii) only
(C) (1) and (ii) only | (D) (i) and (iii) only

(E) Answer not known

Weraumb Fapmsafler sflunarencuser ereneu?

(1) b5 ewm wellwer GgCsesdhaner imﬁﬁ;ﬂmaﬁmgmg S WLILgHETEn
Sifanrsens LTymEhLeTob QubmieTarg. |

(i) ooasy walue  ACssmsEsEn, GLOdEED — salu
e wigHwenpb Gdma. '

(i) siwerréea KGrCgend wHmIb WGsTTD 1987-ib ‘@ app tereid

wrble e e,
(&) (i) wppio (1ii) wED (B) (ii) e @uw
(C) () wppd (ii) wL B MNG) wpgud (Jii) wrEb

(E) eflenL QzNwelldena

n
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51.

T

In which of the fol]bwing cases did the supreme court hold that

“The preamble is an integral part of the Indian Constitution”?
(A) Shankari Prasad case (1951)

(B) LIC of India case (1995)

(C) Indira Nehru Gandhi case (1975)

(D) Maneka Gandhi case (1973)

(E) Answer not known

Cehs  eupsdled ossfHoapnd “@rdu  srflueevuldar  ergueny

sirflumwvide gohdmanbs UG Gréﬂ;m Sty euprdlug 7
(A) smsf Gyens asa@ (1951)

B) era.g.8. apis (1995)

(C) @pHum Cpm smpd aupse (1975)

D) Comsn srsd aupse (1978)

(E) ofen Qsfluciidvena

Al GST2AM/2025
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Yo' in the correct opq,,
52.  Arrange the following cvents of PCR m ley |

occurrence

1.  Annealing

[

Extension
3. Denaturation

4. Gel making

(A) 3,4,2,1 M) 1,2,3,4
© 2,1,3,4 M) 3,1,2,4

(E) Answer not known

Qeraumib PCR—en fapajsmad sflunar aufl@siiug. siawésa)b.

1. useriu®sbse

2. fleuengod

3. Quaoy @pssd
4. Qg swrfligse

&) 3,421 _ ® 1,2,3,4
© 21,34 D) 3,1,2,4

(E) doflenr QsRwelld®ena

"
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R in the correct orde,

52.  Arrange the following events of PC of

occurrence

1.  Annealing

o Extensiron

3.  Denaturation

4. Gel making

(A) 3,4,2,1 B) 1,2,3,4
© 2,1,3,4 M) 3,1,2,4

(E) "Answer not known

Qereumib PCR—er flspajsameré sflwner auflensliuig. Si@wésaib.

1. uwugenhu@ssD

2. dflausmLged

3. Quay Psse
4. Qo sgurfigsd -
A) 3,4,2,1 , ® 1,2,3,4

© 21,34 M) 3,1,2,4

(E) ofleor Ggflweildens

w
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53. Why was the My Scl_leme Platform introduced by the Government of

India?

(A) To provide online shopping for government products

(B) To allow users to discover eligible government schemes based

on their demography

- (C) To give citizens free access to educational resources

(D) To help people apply for government jobs across the country

(E) Answer not known

My Scheme Qumigsead gear @pHu irend SPWPasLLESSUULLS)?

(A) <irs swrNiysEREE paTeadr apmiin aupki@Gse

By uvwenisdr srsafar wasMEgT@s DRLLeLWD sEHUTET  IiTE
S L tisaer samLlu Sigwdiug)

(C) BuLésEHEE s ETRE®ET QRAISDTE aPEIGSE

D) pr@ @ueugb e oremis  CuoosErse ofarariqsEn
D&EEHES 2-SUSD

(E) eferL Qsflueicene

& 51 GST2AM/2025

[Turn over

R R R R R R



54. Match the following :

(a)

Conjugate vaccine

(b) Toxoid vaccine

(c)

Killed vaccine

(d) Attenuated vaccine

&)
(B)
©)
(D)
(E)

@ ® © @
2 4 1
4 1 3
3 2 1
3 4 2

Answer not known

= N W

Qurpsss : -

(a)
(b)
(©
(d)

Qo sELLA
Lr&eumiu® s@Hiiys
Qarédeoriu L :e_;,@ug,eﬂ

SILCEL ety 1 SOLUYS

@ ® @ @

(An 3 2 4 1

B) 2 4 1 3

© 4 3 -2 1

D) 1 3 4 2

(E) ofer Qzfwueiomeans
GST2AM/2025

Polio
Hepatitis-B
. Measles

Diphtheria

B 9 b

@earb9eTener eumgLh
QamuenLiqev-B

SL L banin

-l

QUMW

52
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55.

56,

* (C) Pine Tree

Which pla |
plant was recently genetically engineered to help combat

climate change by absorbing more CO,?

A) Ri
(A) Rice (B) Soya bean

(D) Corn

(E) Answer not known

Qerauouamauppidr erpes snau, <sifs CO, 2 fMgrabd Hpaydr, sraflow,
wrHPsGaTH Currmb cuasuld LIUE WAHD GELwtiur L g ?

(AN =Md . (B) Gsmun Seir

(C) ewuer (D) Gsnerd

(E) e&feL Qgfweldee

1

Grape cell cultures are rich in
(A) Anthoxanthin (B) Anthocyanin
(C) Pyrethrin (D) Taxol

(E) Answer not known

Aym s Qg @mﬁu@m ag Hlenppgiarang 2

(A) =pCorampdlen (B) <ipCarewaflen
(G euQysiler | (D) Lnssnéd

(E) oL Qpflwaiichere

53 GST2AM/2025
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) of acids i .

57. Assertion [A] : Acid rain means the presence N rgj,
water.

Reason [R] . Atmosphere contains oxides of nitrogen g4p,

@)
(B)
©
(D)
(E)

sulphur produced by combustion of fuels.

[A] is true [R] is false

[A] is false [R] is true

Both [A] and [R] are false

Both [A] and [R] are true and [R] is correct explanation of [A]

Answer not known

smpm [A] b sflovap adug vapht ofs Sles sd@wyd

Qumfeug,. |

sngambd [R] @ . efQurmismer afltiusnd auaflveaim o @BLTReT whHpb

(A)
(B)
©)

shsssslen o bmav@amar Qaream@erarg.
[A] &) [R] pougy’

[A] peupy [R] &

[A] mp@ub [R] @renr®Guw soum)

Of [A] wpgid [R] @ran@Cuw &M [R] arerug [Alé@; sflwner cQearssn

(E) e Qsfudidoema

GST2AM/2025 54
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59. What is the theme of “World Space Week 20247, celebrateq from 1

October 4th to 10t 2024?

(A) Space and climate change

(B) Space and energy sustainability
(C)’ Women in ‘'space

(D) The moon : Gateway to the stars

(E) Answer not known

2024, =sGLmuir 4 qpse 10 m.smlju_(ﬂa)rrm 20 amrrlyg,gsb TS &(HSG (Heler
SigliueLuld “e ws afarCeual eumyb 2024” Qa;rrafm_m_llml‘_l_g,n

(A)  efem@euafl wpmIb sTOFle WTHDL

(B) ea@rQeuaf wHmib <Hme ‘rﬂfma)‘{r,g,ehmm

(ON AarQeuafluded waafli

D) ﬁ]snrr : pLesdrtisetien aumufe

(E) &ewr Qsflweldrena

GST2AM/2025 56 o



58. Which of the following is incorrectly paired?

(1)
(i1)
(i11)
(iv)
(A)
(B)
(©)
(D)
(E)

Silicope rubber —  jnert to body fluids

Plasticizer —  make plastics brittle

Laminate —  blend of adhesive and adherend
Filler —  improve mechanical properties

(i) and (iv) only
(ii) only

(1) and (ii1) only
(11) and (iv) only

Answer not known

YGereumauaTaupPled erg seumpns Qenamssliul Hiararg) ?

)
(ii)
(iii)
(iv)
(A)
(By
(©)

(D)
(E)

T

é]oSlCaandn glhur  — 2 L& HreursEpLen fevaryflung
Qerrevigengsir — Q;geﬁ@a)m 2 et wiF Qaliyb
CaliGar_ — . 98ér wHmib @I;_Lq.&aﬂﬁiﬂ SOl
Byend - Qupdly uamyseer GobUBES

(i) wpgd (iv) LGB
(1) wr@w

(i) womd (i) wL G
(i) wpgd (iv) LLEO .

AerL. Qgfweideame

55 GST2AM/2025
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59. What is the theme of “World Space Week 20247 celebrated g, |
October 4t to 10t 2024?
(A) Space and climate change
(B) Space and energy sustainability
(C) Women in space
(D) The moon : Gateway to the stars

(E) Answer not known

2024, =4CLmut 4 oppe 10 aimm@arar @@ anpgfe aps soigcds

S tuaLdd “ews dlén@aiel aungy 2024™ QanmarLm_Gut L g7

(A) dlanQaef whpb sreflee wrhowb
(B) famCauefl whpb 2ppd Peapsaran
(N Aar@aici@d waelt

(D) Por: presfymsaier am@d

(E) fa Q,sﬂu_ls{ﬂma)m

"
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60.

Which of the following are incorrectly paired?

(1)
(2)
(3)
(4)

(A)
(B)
(C)
D)
(E)

2016
1992
2013
1999

The Rights of Persons with Disabilities Act
National Trust Act
National Food Security Act

Rehabilitation Council Act

(1) and (3) are incorrect

(1) and (4) are incorrect |

(2) and (3) are incorrect

(2) and (4) are incorrect

Answer not known

Qereupeuareupmier areneu gauprats dun@sgslucGidrerern?

(1)
(2)
(3)
(4)

(A)

(B)
(€)

2016
1992
2013
1999

——

wrppsHnearmeiisdr o flewsdr sCL1b
Csdlw DipsslL@ar L b
Cgélwu o evreyly UMFETULE SULLD

yeriaumpa] WETnF L Lb

(1) wppb (3) pauprarea

(1) wpgpd (4) seuprareal

(2) wppib (3) gauprarema

(DN (2) wpmibd (4) paupraieal

(E) eflenr. QpMweiidena

67 GST2AM/2025
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61. Under POCSO Act 2012, any person who fails to repox.'t an offen, f
the police shall be punishable with which of the following?
(A) imprisonment upto six months
(B) imprisonment upto one year and with fine
(C) imprisonment upto six months or fine or both
(D) imprisonment upto three months

(E) Answer not known

POCSO s-Lwb 20126r 8. aps @@ pUGL @G GDPS®S STUD Hapl,,
yemellsss seuflenme, GeraumauarapBlod asamed samgsaiiviGeur?

(A) 6 wrsrser ey He ST |

B) 1 amew Aap SRS WHMID SHUTTSLD

(G 6 LTSRS aUenT SlwD SRTL ST DG HUFTHLD DADLOG QTR
(D) 3 wrgrsdr auey Slenn s&TL T .

(E) oL Qsfluciaome

62. In which year the Scheduled. Castes and Scheduled Tribes
(Prevention of Atrocities) Act was passed?

(A) 1989 | (B) 1987
(C) 1986 ' (D) 1985
(E) Answer not known

DL LaumeTuu®OSs LT L sndladr WHMILD ugpnsj@quﬂcﬁr'r (.gu'_@gu.ufﬂ&m
BOUY) sLLD ahs e ® @upprin g
(A 1989 (B) 1987

(C) 1986 (D) 1985
(E) &ferc Qsflweldrema
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63.

T

Assertion [A] Modern education played a crucial role in

smashing the chains of social oppression.

Reason [R] Lack of education among marginalized groups

restricted them to do low occupations.
(A) [Als true but [R] is false

(B) Both [A] and [R] are't_rue and [R] is the correct explanation
of [A]

(C) [A]is false but [R] is true

(D) Both [A] and [R] are true, but [R] 1s not the correct explanation

of [A]

(E) Answer not known

ampm [A] D sws . @hseueplar suddsmer e aLtufld  meler
swallpen wadw ukiE udlsdns.

gmpewrd [R] @ smpssuucL  wasafleoCu  sreriu@b  sdefularanio
Siaufrsemar s1phs Gsmfldsmar GupQsandrears Qelifps;.
(A4) [A] s gyemme [R] sau
B [A] wompd [R] @raw@iod &, [R] erérugy [A] Qe sflwner eQerssn
© [A] s game [R] &l |
D) [A] womwb [R] @rawGid #fl amd [R] earng [Al@er sflwmar
cflarésid D

(E) o9enr Qsflweiidvene
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63. Assertion [A] : Modern education played a crucial role in

smashing the chains of social oppression.

Reason [R]  : Lack of education among marginalized groups
restricted them to do low occupations.
(A) [A] 1s true but [R] is faise
(B) Both [A] and [R] are true and [R] is the correct explanation
of [A]
(C) [A]is false but [R] is true
| (D) Both [A] énd [R] are true, but [R] is not the correct explanation
of [A]

(E) - Answer not known

sapm [A] : sps . @hsGueplidar shddamar 2L liudd  peiar
soallpenn Wpew unE udlsing.

smpeerd [R] @ smpssuulL  wésafleo CGu  sramiu@n  sdefluferano
Sjauirsemer smphs Qgmbldsmer Guopbsardrard Qaufpg.
(A) [A] et gyemrdd [R] poupy
B [A] wpgw [R] @ren@w &, [R] eretrugy [A] @er eflwner aQerésio
(C) [A] poum pemmed [R] & '
D) [A] wppd [R] @raw@w &fl gamd [R] adg [Al@er sflwrer
efleTEaID SHOD

(E) ofen Qgrﬂwaﬂ@mm

& - 59 | " GST2AM/2025
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64.  Choose the right matches among types

(1) PMSSY —
(2) NTEP =
(3) NVBDCP -
(49 JSSK =

(A) (2) and (3) are correct
(C) (1) and (3) are correct

(E) Answer not known

pradhan Mantri Swasthya Suraksha
Yojana (Primé Minister Health
Protection Programme)

National Tobacco Elimination
Programme |

National Vector Borne Disease Contrg
Programme |

Janani Shiksha Suraksha Karyakrap,
(Mother Education Protection

Programme)
(B) (3) and (4) are correct
(D) (1) and (2) are correct

Ssar_cupied org sflwns Qurmpbuerars) ?

(1) PMSSY _
! (2) NTEP =
(3) NVBDCP -

| .
(4) JSSK ¥

(A) (2) wpmw (3) sfAwnereneu
(O () wpmd (3) sAwrereney
(E) efen Gg,rﬂu.xaﬁ]ébmaﬁ

GST2AM/2025

Pradhan Mantri Swasthya Suraksha
Yojana (Prime Minister Health
Protection Programme)

National Tobacco Elimination
Programme

National Vector Borne Disease Control
Programme

Janani Shiksha Suraksha Karyakram
(Mother Education Protection
Programme)

(B) (3) Lo DD (4) sflwurareneu
D) (1) LHmIb (2) sRlwireTenau
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65.

With reference to ‘Chiof Minister's Breakfast Scheme'; consider the

following statements,

(1)  This scheme has been started by the Tamil Nadu
(2) It will be implemented in all Primary Schools in the State
(8) This scheme is a Pioneer Scheme in India and model for others

to 'emulate

Select the correct answer using the code given below :
(A) (1) and (2) only (B) (2) and (3) only
€ (Mand@only (D) (1), (2) and (3)

(E) Answer not known

‘padeufler srae o amay AL upHlu @GHoyer; Geareumb ifémamuid

Seueilwrhg&eT. »

(1) @bp AL sblpprigd QarmsiulLg.

(2) mrr;ﬁlmg,ﬂgudrm @i GQgm_és . udraflsafigyb QL
QawduESsILELD.

B) @ps Aid @pdureld @m warGammy HiLbd whpb wHpeiEeT
Qerupmieugh@ werondfumgb.

ECyp QanpésiiulL GHSL oL ume&rﬁ@ﬁﬂ gflwimres u@@@ CoipOp@asaj :
(A) (1) wppid (2) 0O (B) (2) wppis (3) worGud

G (1) wpgd (3) LLED (D) (1), (2) wpud (3)

(E) ofenr Qgﬁ]uaﬁ]cbmcu

61 GST2AM/2025
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e — ﬁ

; inister Dashb :
66. What is/are the primary role/s of the Chief Min1 oard jp
Tamil Nadu?
(1) To provide tourism statistics
(ii) To monitor government department performance
1 (111)) To manage health care services

(A) (@) only
(B) (i) only
(C) (@) and (ii)’'only

| (D) (i) and (iii) only
(E) Answer not known
SBPET e pgdeun LrasGuniiger apseTeiols Lmki@, eTemar ?
(1)  spyors gieopuler yera Gﬂaﬁqr&&é)mg", S(Heug)

| (i) s geopsaiar Qeudur@aemans samarenilliug,
(1) FETBTE Geancusenar flircudliug,

' (A) (1) we@Ew
B (i) weew
(C) () wpmbd (i1) wLEb

- (DR (i) wpg (i) 0o
(E) dfleor Qzfilwefdency
GST2AM/2025 62 =




67.

Assertion [A] The Demographic transition varies between

Districts.

Reason [R] : The districts of high economic growth attract
larger population.

(A) [A]is true [R] is false

(B) [A] and [R] are true but [R] is not the correct explanation for
[A]

(C) Both [A] and [R] are false -

(D) Both [A] and [R] are true and [R] is correctly explaining [A]

(E) Answer not known

sapm [A] P wralLmsalerCu waser Agreas wrHhpn Caunudps.

smpemd [R] ' @fls Qur@eangny euersd Qamar wreul L iiser N33

&EmaT FirsHeTner.
(A) [A] &f [R] saugy
(B) [A] wpmb [R] efl, gpemed [R] ereémugy [A]loen slarssafdrena
(C) [A] wppib [R] @ren@d> seup
D) [A] wpg [R] &), wpgd [R] ererug [Aleea sfiuns derse s
(E) ol Qsfweidema

-63, GST2AM/2025
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68. Which is/are the feature/s of Tamil Nadu Agriculture Budg,,

schemes 2022-23 is true?

(1)

(2)

3)

(A)
©

(E)

irrigation dependent crops

The integrated farming system promotes crop cultivation wit,

livestock rearing

Traditional paddy varieties are preserved under Nel Jayarap,

Mission
(1) only (B) (1) and (2) only
(2) and (3) only (D) (1) and (3) only

Answer not known

2022-23 < amgpstar slper@ Caamarenty ulQgl Alldsde ‘
sibsusafld Geraumaiaraupha ag o arann?

(1) aeawssilar gils fHo Coburt® @Euésd Srounsand sttis
uwlfsmer Gosanss Qe g

(2) gordeaps uvdérmar wop uwlt  srGUgYLer  sTdEEL
aerienuub Qanam g

(3) Gpao Guomosr Quésd gawrs umbufly Qpd  Hossed
UnTEI&TSHS0

(A) (1) wiEw (B) (1) wppb (2) weEw

(G (2) wpmd (3) LG D) (1) wpgw (3) Lo

(E) fau Gsfluddaw

GST2AM/2025 64
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69. Tamil Nadu's GSDP growth rates were 8.13% in 2022-23 and

(A) 8.18%

(B) 8.23%

(C) 8.28%

(D) 8.33%

(E) Answer not known

0s 2 .
01n 2023-24 at constant prices.

slpprigear GSDP aarisd Hdsd poowura fssHo 2022-23

8.13% <y sab 2023-24

(A) 8.18%

(B) 8.23%

(Cy 8.28%
(D) 8.33%

(E) e Gsfludiidaa

LI

% psaub @mbss.

i GST2AM/2025
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70.  Which of the following is correctly paired?

(1)
2)
(3)
(4)

(A)
(B)
(©)
(D)
(E)

SDMA - State Disaster Management Action

SFDRR ~ Sendai Framework for Disaster Risk Reduction

SDMP - State Disaster Management Project

NEOC - National Emergency Operation Committee

(1) and (2) are correct
(2) a.nd (4) are correct
(3) and (4) are correct
(1) and (4) are correct

Answer not known

Speumeuanaup s sflwnar G)anearr erg)?

(1
2

(3
(4)

SDMA - wrflad CuilLir Cuendramws Aswdur®

SFDRR - GufiLs SUTUEDESE  GHDUIUSHETET
S LenoiL

SDMP - wnflou GuflLir Cuardrews AL ib
NEOC - Gzllu siausy pLagsmss @y

A1 (1) wpgiod (2) &

(B)

(2) wpmd (4) &M

(© (3) wppid (4) o
(D) (1) wppid (4) &
(E) dfleor Qgflludidame |

GST2AM/2025 66
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71.

Name one of the cyclones which wrecked havoc in Tamil Nadu and

Kerala in the month of November to December 2017.
(A) Vardah

(B) Ockhi

(C) Nisha

(D) Maarutha

(E) Answer not known

2017 peubuir wHHH gebuT wLrFEsED FODETEH  WOHDID Gayarnelled

Cuyfea ghuBsdw @oraeflulen Quuenrs GHUYHS.

(A aisr

(B gs8
(C) Hlagr

D) wmsT

(E) oo Qg flueidea

67
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72. The title of the Brundtland report 1s

(A) Caring for earth
(B) Caring and sharing
(C) Our common future

(D) Environment -Afriendly Resource Consump'tion
(E) Answer not known

WQyer_eer ifléamauiler sepeliL

(4) - yheow sauailzgss Aardrag)

(B) assuc.;uﬂgg,jé; Qsnéteug WHOID UTeug)

(C) pwgy Qungeurnar erdliisTeLD

(B spmé@wed BLy snihs cuaThise FHsTay

(E) oo Qgflwelldane
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73. Match Column-I with Column-II and select the correct answer using
answer codes :

(@)

(b)
(©)
(d)

(A)
(B)
©
D)
(E)

Qp@euflens-1 g

Column -1

Bioassay organism
Accumulator species
Keystone species
Exotic species

@. ® @© @
2 4 1 3
3 ) LR 2
4 3 2 1
3 2 4 1
Answer not known

Lo Do

Column —1I
Vespula germanica
Palm tree
Woodlice

Trout

QpReaufans-1l eLer Qurmsd, s GHUGsmaTL

vwetu®sd sflwuner elleLews CeipOshidsa|b :

(a)
(b)
(c)
(d)

(A)
(B)

) 4 3 2

(D)
(E)

Qppeuflens — 1

2 Wit uGLuMie] 2 Wlflamesd

Bl @emser

DDED @) QTHRIGET
SWOBTL[H Garbiser
@ ® ©© @

2 4 1
3 1 4

= = N W

3 2 4
cflenL Gprﬂu_leﬁld)mm

69
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QpGaufens — 11
Qeucvyeom G&ﬁmnaﬂ&.&n
Lene LD

wyLiGuer

U Qger Seir
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74.

GST2AM/2025 70

Consider the following points about a biosphere eserve?

(@) Tt is the largest continuous mangrove area

(b) Tropical semi-evergreen forests

(¢)  Agrosystems, silviculture, pisciculture and prawn culture

(d) The largest mangal diversity in the world its core area hg
been designated as a world heritage site.

This biosphere reserve is :

(A) Shankou mangrove biosphere reserve
(B) Can Gio mangrove bidsphere reserve

(C) Gulf of mannar biosphere reserve

(D) Sunderbans mangrove biosphere reserve
(E) Answer not known

e WtsGaner srndud upPu Yaramb GHuysme smsHd Qaran® aps
e e.WiéCanar srbLgdpE Quimpmflpg aay CatpQa®ssab.

(@) Bz oo BsuQuiiu R0 sety Ho uriy

(b) Gauwem o @y us@w wIPT &1E
() cPausmu simwiuysdr, Hdhadst, Bereuariiay, whmb @prd auariiiy

(d) cosendflu BeuQuilu wasd o @R uba@s@w whHub s
wédlu vEdsadr o.ws unpbufiu gerons Uy aubgsdrars.

e 8t&Ganer smiuGLib aenugy

(A) eymiCan sgiyfle o @réCanar &b
(B) Csear fCwr sgyiiyfle 2 Q14Camar srn9ib
(C) uwerermt auaELr 2 WhaCasnar smuQ b

(Df\ spereuer syuufe o WrsCaner smnSLin
(E) e Qefludidenw

N
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75. The work of laying Optical Fibre Cables (OFC) was initiated at

(A) Chinnamuttom

(B) Kodimunai

(C) Neyyoor

(D) Muthalakurichi

(E) Answer not known

sanaflwn@wofl wraleb

- uBsEn uamfl QpmtisOuLLE.
(A) Aearanppritd
(B), @sngapaer
(C) Qpuwf
(D) sswsEHEs

(E) HeL Qsflweiida®

village of Kanyakumari District.

Aqmosdd lgsed Seouut Galer

GST2AM/2025
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76.  Which of the following is incorrectly paired?
Rivers Tributaries
(1) Cauvery —  Amaravathi

(2) Thamirabharani — Pampar

(3) Vaigai - —  Pechiyar

(4) Vellar —  Manjalar

(A) (1) and (3)
(B) (1) and (2)
(C) (3)and (2)
(D) (3) and (9)

(E) Answer not known

Sletreu(peuameupmiaT ereneu SUDNE @MenTds LUl DeTarer ?

Jur3ETo geen BHaer
(1) sreqf - ST TeuS)
(2) smAFLyed - umbum)
3) aaums —  Guédumy
(4) Qeusrermy — | WwEpseTy

A) Q) wpgw (3)
B) (1) wppo (2)
(€1 (3) wpmw (2)
D)  (3) wpgid (4)
(E) oL Qsfueldame
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71.

1

Which of the following is incorrectly paired?

(1)
(2)
3)
(4)

A)
(B)
(©)
(D)
(E)

Hindu Religious Endowment Act
The Madras State Aid to Industries Act
Annamalai University established

E.V. Ramaswami launch the
Self Respect Movement

(2) and (4) are not correct
(2) and (3) are not correct
(3) and (4) are not correct
(1) and (4) are not correct

Answer not known

Qerapaaaupfio ag saprs Qoarsstur Q&g ?

(1)
(2
3)
4)

(A)
(B)
(©

Qg sow spfeaggep surd

Qui grey orile 2sa8 Qupb Asmfdgep srLbd
SISTETTDOR LDEDVESPSLD SoeulLg
FF.GQJ. gmosmf swoflures Quissessd
ComppedssTh

(2) wppb (4) sfurerea: Qoo

(2) wpmw (3) sflwra@a Qoo

(3) wppd (4) sfurama Qoo

(DB (1) wppd (4) sfwunareal Roaa

(E)

Qe Asflustdaa

1925
1923
1929
1930

GST2AM/2025
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78.  Choose the pillars that support the Hall of Testimony (Saandranmg;
Mandabam) :
(1) Love, Shy
(i1) Delay, Tiff
(111) Dignity, Sky
(iv)  Compromise, Truth, Overview
(A) (i), (iv) are right
B) (i), (iii), (iv) are right
(©) @), (iv) are right

(D) (ii), (iv) are right

(E) Answer not known

SWWD"W@LD. THQID  WATLUSDSS SIUGD FIATHT eTaneu ? TenUMss
Qzfley Qswis. '
(1) ey, HTeTLh

(1) sewmésbd, Qawssbd

(111) wrend, eurarb

(iv) @tuyey, 2 dmeno, senCarm: b

(A) (i), (iv) b @ &

B) (), (i), (iv) b s

@™ (@), (iv) b Ew &f

@ (i), (V) weo o

(E) &eor Qsfwefdvena
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79,

L}

Consider the f :
> following and  find
statement/statements. o out the correct

(a) Ewder}ce of a planned town, warehouse and ring wells are
found in Arikkamedu |

(b) The. Cheras ruled over Kauveri delta and their capital was
uraiyur

(c) Tl‘fe Ch?la emblem was the tiger and they issued square copper
coins with images of a tiger |

(d) The Sangam Age has its roots in the Bronze Age

(A) (a) is correct

(B) (b) is correct
(C) (a) and (c)1s correct
(D) (a), (c) and (d) are correct

(E) Answer not known

SpsaTgib SmHRE®aT S TMUbHI sflwman g/ S HIS@ET GaihAsH&HaLD.
(a) ALl peqb, sraflus ALk Lppd eep Sanmsd
2M&5GLL G SO &aLLLLeT

Gaygisar  anGaufl QLoLT UGSew

gma}.r_r;asmb o DT 2GS

(c) Gampiigafien Serad el @D
ulg eilemer QaLbLy prERTWRIEEDET

b Qeuarrses sragdd QmbI Gauehem

(b) o8 Cewgent. Djeuirgaf e
. @jeuiiger Lell 2 (mauld Qurihss 8817
Qeuefl@LmigeT

d) sris ST $ Qamrglwg

(AN (a) we B &
(B) (b) wGw &f
(©) (a) wop (©) &f

D) (a), (c) wHg® (d) sf
(E) oSlen Ggrﬂmsﬁlsbmsu
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80. The effects of Independent Tamil Movement :'

(1)

@)

3
(4)

(A)
(B)
(€)
(D)
(E)

Tamil Language can maintain its traditional integrity without

the loan words from English and Sanskrit

Reclaiming chaste Tamil's glory that was a pride: of the

Sangam Period
Actively opposing the Hindi language
Avoid Hindi and accept only the English words

(1) and (2) correét

(1) and (3) correct

(2) and (4) correct
(2) and (3) correct

Answer not known

sallgsllp Quisssdler ellenareyser :

(1)

2
(3
4
(A)

(B)
(©)

swevdl(mad wHmb e G]Lomep“leserﬂm ag,aﬁ]u&]argﬁl@u T ALY T
Purkiseud L gar @gjqusu

shEs ST STHE aTiSs ST SLOMWPE S 14 SETES6
Bpd Gumfl fsssms LD aTdissys Gewdupgd

Qg Aumflerw isph hHwsms L Hib FHMI&ECsTeT(EHHD

(1) wpmd (2) s

(1) wpmb (3) &M

(2) ppib (4) &M

OF" (2) wppd (3) &
(E) fer Qzflualdeame

GST2AM/2025 76 | o




81.

T

Which of the following statements is/are correct?

1)
2

3)

(A)
(B)
(©)

(D)

(E)

Meetings of the Justice Party held in English only

Meetings of the Indian National Congress held in Tamil also in

order to attract common people

Dr. Muthulakshmi Reddy was elected as Deputy Speaker of
Legislature in 1927

(1) only correct

(2) only correct

(1) and (2) are correct
(1), (2) and (3) are correct

Answer not known

Qemeu(mib G&rr;b@mrrdfesaﬂéo ergl/eTeney sflwnareal ?

(1)
(2)

3)

(A)
(B)
©

BHaaL Hufer ol LEIE oyaflosdd Ll EG poLtupar.
@pHwCsdlu sradydler sl Lmsdr, CUTg LD&SENETS 5m@mg,ﬁ)asnaa,
sl fgd pLHE-

1927 < &bdu‘r(b\ LML g et

s10 Qg sULIDETDSSI6 GlenewT -
Qg@a‘sa;uur.t_m’r. "

FUNHMUSTTES e
(1) wLEb surerg

(2) L sAluTaTg.
(1) wpmpid (2) sflwnareneu y

O (1), (2) wHyd (3) sflwrananau

(E)

e Qzflweildoa
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82. Who among the following was the collecto

r of Tanjore whg,

_ ' . )
Satyagrahis marched towards Tanjore, against salt law

(A)

B)

(©€)

D)

(E)

K. Santanam

A.J. Rajan

G. Ramachandran

Selvi Durgabai

Answer not known

spHAurdrdladr o0ys sLLEHDG THITS g,@m&f Corésdl  QaarmGung

Qemauueufld Wt H@hee LIl L S Swgns QBhsT?

(A)

5. a‘r_'bg,rremb

(B{‘ .G, grge

©

Bl. gmoshHElyer

(D) Qsevel giftsmumL

(E) e Qgflweldane
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83.

LI

When Madras Mahajana Sabha was started?
(A) May 17, 1884

(B) May 26, 1884

(C) May 16, 1884

(D) May 6, 1884

(E) Answer not known

G‘&éﬁmm warger gL auGung G]grn_.réwspuf_l_gu';
(A) Gw 17, 1884

(B) Guw 26, 1884

(G Gw 16, 1884

(D) Guw 6, 1884

(E) e Qpfluiciloms

79 GST2AM/2025
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84.  Arrange the following Tamil Scholars in chrono

(1)
(2)
(3)
4)

(&)
(B)
©
D)
(E)

Mayooram Vedanayagam Pillai
Vedanayagam Sastriar
Thanjavur Abraham Pandithar

H.A. Krishnapillai

(1), (2), (D, (3)
(2), (1), 3), (4
(2), (1), 4), 3)
(3), (4), (2), (V)

Answer not known

Gemeumd sllphEsismar staapapluy auflasiubhig)s.

(1)
(2)
(3)
(4)

(A)
(B)
(©€)

b Gauspmusid Geraner
Ceaugprwa grevdfluwm -
SErens HATEMD LahTiq ST

eré.qr. A(mayemTiigeTanar

1), @), (4), 3
@), (1), (3), @)
@), (1), @), (3)

O 3), (4), @), (V)
(E) oo Qflweldeana
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85. Which of the following statements is/are true regarding the Treaty
of Bassein (1802)?

(1)

(i1)

The Treaty of Bassein was signed between Peshwa Baji Rao II
and the British. |

Peshwa agreed to cede in perpetuity to the company territories
yielding an income of 26 lakhs rupees.

(i11) Peshwa agreed to surrender the city of surat to companies.

(A) () only

(B) (i) and (iii) only

(C) (@) and (i) only

(D) @), (1) and (iii)

(E). Answer not known

Cuélen o Latugsemas (1802) Qsmiiuner Gereu@pd Sapmiseier egl/eTena
silwnerg/sflureareneu? :
() GCufler oLegsms Gueyeur @pawLmb  umgdgTes  LHOID

(i1)

(1i1)

(&)

< rfCawmsE @eortie astuwssrang.

Guabeur 26 wisb guml a@Lred gow WrGssmsmeas sb0LEE
BlybsTLons A H&QaTH&s @ULEAETaTLTT.

CueyaT @IS HEMTS s@uaflldb guiueL &5 @tn.@s Q& mesTLmiT.

G) wLGD

(BY7 (i) wpgd (iil) D

©)
D)
(E)

(1) wHmd (11) wLED
(1), (ii) wHmbd (iii)
AlenL Gg,rﬂueﬂd)anw
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s was constitytan :
86. V.N. Gadgil committee on policy and programme tuteq in

the year

(A) 1978

(B) 1980

(C) 1982

(D) 1988

(E) Answer not known
Qsnetens wpmib Hrid Qsriiuts V.N. snided W e @meaunssiu
<& (B

(A) 1978

“(B) 1980

(C) 1982

o 192-38

(E) e Qsflucldeme
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87. Choose the correct matches among the types.

Organisation - Articles
(1) Parliament - 124 to 147
(2) The Union Judiciary — T9to 122

(3) Directive Priﬁciples of State Policy — 36 to 51
(4) Public Service Commission — 315 to 323

(A) (1) and (3) are correct

(B) (1) and (2) are correct
(C) (2) and (3) are correct
(D) (3) and (4) are correct

(E) Answer not known

Spsacarcupe sflurer Qurmsssmss s&rLfls. .

SIOIDLILEET ol fsein
(1) ungmEpweTd | - 124 s 147
(2) geandlu fdisop - 1o 122
(3) s aflsn B GpHlpans Casmiun® — 36 gpse 51
@) i uelunart Cafaramub — 315 ys® 323

(B) (1) wppid (3) &
B) (1) wpgid (2) &l
(C) (2) wppd> (3) &f

(DY (3) wppd (4) &f
(E) oL Gsfusidae

= 83 GST2AM/2025
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88. 'People in Tamil Nadu Greets Chief Minister as “Thayumanaysg,»

(Man who becomes Mother) for the introduction of the scheme,

(A) Breakfast in schools |

(B) Vidiyal Payana Thittgm

(C) Neengal Nalama

(D) Makaludan Mudalvar

(E) Answer not known
SBIDHTL1q60, @ggu_,&sané &ﬁ@&ﬂu@ﬁ;ﬂmg{mm, @g,wmmé&aﬁm D& &6
“gmuyoTeTeur” GTET) a.an@é;é:lmmmﬁ; |
(A) udaafllier sTene 2 a@ey

B eflques uanp Ao

(C) pruser poowm

(D) wssEHLer gl

(E) &feoL Gzflusdidame

"
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89. Wlﬁch O.f the following statements are true about Athikadavu -
Avinashi project?

(i)

Coimbatore, Tirupur and Erode Dlstrlcts are the beneficiaries
of this project.

(ii) This project proposes to take 1.5 TMC of surplus water from
the Kalingarayan anicut in Erode District.

(iii) This project was implemented at a cost of 2456.41 crores and
irrigate 28,464 acres of farmlands in these districts.

(A) () only

(B) (i) and (iii) only

(C) (1) and (ii) only

(D) (i1) and (iii) only

(E) Answer not known

' agﬁ&aLm-a{aﬂmnﬁ A Qpriiuner SpEGETL  SDHOESERT e
sflunerencu ? e
(i) Gasrwuqapss, Q@Lﬂé,ﬂ' wHmd  FGYTE Il L ks QSEHL ST

(i)

- ueaTeLSletmer.

Gy wreul LFHd 2 drar sreflmasymue ama&ruﬁlc&@g@ 1.5 1g.erib.8
o ufl Benry @g,gﬂl_l_g,ﬁgpasrra; aB&s 2 $CGaélésiulLg).

(i) @sHLd 2456.41 Gamg  wHUSLiged G]&u_lsvu@g,suul_(b\

(A)

GupGHuac mrrml_u_rma;aﬂm 28,464 gési HeomsEps@l unrgear Bir
mgmgﬁm@]

(1) LW

(BY" (i) wpmp (iii) @b

(©)
(D)
(E)

(i) wpmw (11) wED
(ii) whmd (1i1) L GO
AerL Qgfweiidame
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89. Wl.nc O'f th? following statements are true about Athikadavu —
Avinashi project?

(1)
(1)
(iii)
(A)
(B)
(©)

(D)
(E)

Co
imbatore, Tirupur and Erode Dlstrlcts are the beneficiaries
of this project.

This PI‘_OJeCt proposes to take 1.5 TMC of surplus water from
the Kahngarayan anicut in Erode District.

'_rh_ls project was implemented at a cost of 2456.41 crores and
Irrigate 28,464 acres of farmlands in these districts.

(1) only

(i) and (iii) only
(i) and (ii) only
(i) and (iii) only

Answer not known

'aggésm_@{-aaﬂmrréﬂ b Qgmuiurer SpsseRTL  sadHD&EEHET Teveu
sflwnenensu ? .

(1)

Casmuapggnt, Hmuyt wHmb  FCITE Wil L ksd GHLFHTD

- uevaTenL_lerpar.

i)

(i1)

(A)

Gy wreulLsfd o drer sraflmisgmuen &mmuﬁ]c&@p@ 1.5 1.crib.8)
o ufl Beoy s LsHDETE THES 2 $Cs8lEsulLg).

@sHL1b 2456.41 QGsmg  wLHUSLIgD Gsumu@ﬁguux.@
Cuph@Hudie et _iisafler 28,464 gést HemsEré@l Lnsar ﬁn

anphGADS.

(1) wL b

BY" () wppi> (i) we G

(€)
(D)
(E)

(i) wpmd (11) LLEW
(i) whHmd (i) LEEW
AevL QgRweildene

85 GST2AM/2025
[Turn over



89. %1ch O.f th? following statements are true about Athikadavu —
Avinashi project?

0 Com?batore, Tirupur and Erode Districts are the beneficiaries
of this project.

(ii) This prf)ject proposes to take 1.5 TMC of surplus water from
the Kalingarayan anicut in Erode District.

(11) tl‘h;s project was implemented at a cost of 2456.41 crores and
rrigate 28,464 acres of farmlands in these districts.

(A) (i) only

(B) (1) and (iii) only

(C) (1) and (i1) only

(D) (1) and (iii) only

(E) Answer not known

' agﬁésamm -gjellamdl S QgrrL_rrurraﬁ EPSSAT  SndREEERET  GTena
sflwrearencu ?
() Gamwqpsgn, ﬁ@ﬂgr‘r wHmb FCITE  wrelLhsd @SHLSHTD

- et Slarper.

(11)

(ii1)

(A)

FCy@ el Ldd edrer sreliusymuear semamddmbg 1.5 lg..eTD. &)
o Ul Sy @A Lsfpans abss e sCpélsariurLg). |
@S L1b 2456.41 Gamyg  wHUS KD  Cewou@ssuul(,
Cuh @M prelLisaler 28,464 gési Homs@nsEn unser ﬁn
uBIGE DSl

(1) wLEW

(BY" (i) wpmw (iil) w G

(€)
(D)
(E)

(i) wpgub (11) wLED
(ii) wpmbd (i) o
afen Qgrﬂmeﬁ]mma)
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90. “Neengal Nalama” — is the scheme inaugurated by the Governmen{
of Tamil Nadu,
(A) Intended to reduce the gap between the people ang
Government
(B) 1t is made up of an instrument of e-governance

(C) 1t focuses on ensuring that government initiatives reach th,
intended beneficiaries

(D) All of these

(E) Answer not known

SOPBIG @irend Feumsiuc Gerar ‘Bruser peown’ erergyib A L_onarg

(A) wvésepsgd - Sinsniussdpeb  @e Cuwrar Qe Qeafleaw
G®PUUSDHGWLTRIET S

(B) @sfLvreng Ber wyesens TRIL GG 2 Heumdsi L snEb

C) @sdcivnary s Qurgipe AL misdr @@ﬂlﬂ&LQ}t’f&@lﬁ@ Qeary
Cardmgn Tt n_gxﬂuu@ﬁ@&lsmp@

(DN @eoasd siwanggn’

(E) e Qsfuafdea
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91. Consider the following statements about ELCOT and choose the
correct answer:

M

(1)
(1i1)

(iv)

(A)
(B)
(&)
(D)
(E)

EL(?OT 18 registered under the Coopcrativc‘ society
Registration Act

It is partially owned by the Government of Tamil Nadu

It is the Nodal Agency for IT and infrastructure development
for the Government of Tamil Nadu

It was established in the year 1977

(111) and (iv) only correct
(11) and (iii) only correct
(1) and (iv) only correct
(1) and (11) only correct
Answer not known

s8ppr® Daagy sps Hpaapdd (ELCOT) &psdr. amppacin
e uuaLdd sfuna acow CarplsBés.

(1)

(i1)
(iii)

(iv)

T Ppeenonans sl ey sus  sULLpAen &
o (HaundsuLCLETGD
Pad vEsHueey, FOPs JATEESG QsnpsopeLwsn@Eh
: -
Bios  snsmussBdr  pEQQ QpmPpmiud Db HH ST
f_mﬁt_mm cuafisféaner Apuy Hpaend @b |

@pPpaand 1977 aib @&1( o (HAUNAsLILCLETGD

(AyN(iii) whpd (iv) w b sflurag

(B)
©
(D)
(E)

(ii) wpgd (ii1) wi®w sfuneg
(i) wppd (v) wi.Gb sflurers
(1) wppd (ii) wr-Ewb sfwreg
B Apflustioo

a5
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92. iTNT Hub is located at

(A) Anna University

(B) Madras University

(&) Vellpre Institute of Technology
(D) Madurai University

(E) Answer not khown

1ITNT ants ———— ewpgierensg.
(AN yeremtm ud)&sm@ﬁés&@&&

(B) Qserenar UDSDESPELD

(C) Gaugrit Asmfeomr U Fmeuard
(D) wger udsmOsSYPSLD

(E) d&fen Qzflwafcrens
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93.

T

tch : ini ‘ i '
Match correctly the evolution of district administration with their
corresponding year,

(a) Royal commission on decentralization 1. 1772

(b) The Indian statutory commission 2. 18856
(c) The Bengal local self-Government Act 3. 1909
(d) The office of the collector 4. 1927

@ o @© @

(A) 2 4 1 3
B) 4 2 1 3
©) 1 4 3 2
D) 3 4 2 1

.(E) Answer not known
wrau L Hieunssdar  uflammo  ceriéflowu  SeuppLer  GsTLiL@LW
< @GLr® sfluns Qurmssey :
(a) <=fsry uguenssd - 1. 1772
WBgmer rud ,eamrwib

(b) @pHw slLpoD Qeamuib ‘ 2. 1885
1909

@

() cuiismaT 2 drEpi &Ww U & sLLD

(d) wreaur L <y fssmaeui HQURSLD 4. 1927

@ ® (@© @
A) 2 4 1
(B) 4 2 1
©) 1 4 3
Dn 3 4 2
(E) Aer Qsflweidena

=N W W
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94. Identify the correct statement about the State DiSaSteri

Management Authority of TamilNadu

(i) It is.responsible for coordinating the response to disasters gy, :
reducing risks | ‘

(i) The chief secretary act as the chairperson fo'r monitoring tp,
disaster management activities in the state

(iii) - When approving the state disaster management plan, the stat, |
cabinet follows the guidelines provided by the Nationg |

Disaster Management Authority

(A) (@) only _ (B) @) and_(iii) only
(C) (i) and (ii) only , (D) (i1) and (iii) only
(E) Answer not known '

SOIPBTEH wrble CuAi Gmmns&mmm‘%mm@m upHw sflwurer epnsoers |

s Mla.

(1) CurpPeyssner 'srgﬁraﬂmm&mm RHBIE TS, - SUMURIS®HETS
G@PLILSHE G Gurmiiiy |

() slyssder CGuALr Cuoerameo QewourGaemars  sansraissb

SMVUTTES FMmMWE Qewemerit Qsweou@H i

(iii)) wrfleo GuALr Guerdrew Alisdine guussd <eflg@gn Gung,
Caélu GuilLi Gueramew eymemun aupmidlu  euflsr Hsdsme
wrile Smwssrean Gaupndng

(A) (@) vrEn BN () wpmo (Gii) we o

150" 10000 () SelE D) (1) wpps (i) we Gd
(E) efeor Asfluaideama

n
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95. Which one does not include in three-tier system of local

Government?

(A) Panchayat Samiti
(B) Grama Sabha
(C) Gram Panchayat
(D) Zila parishad

(E) Answer not known

epep (D& o-eTermiél el popule CsrssliuLTg SiemLUL 6Tg)?

(A) .u@am@@ s
(BN Agmwo 'gmlu

(C) Aymoly uEHSTWES)
D) Pawr uileys

(E) eﬁ]m;iagrﬂmsﬂmmw
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96. Which of the following is

1)
(2)
(3)
(4)

@)
(B)
©
(D)
(E)

C. Rajagopalachari
B.P. Mandal
Morarji Desai

C.N. Annadurai

(1) and (8) are correct
(1) and (2) are correct
(2) and (8) are correct
(1) and (4) are correct

Answer not known

—_—

correctly pair ed?

Legislative Assembly
Legislative Council
Legislative Council

Legislati;'re Council

Gereumeuareup e erg sfwns @eardsluL(herarg ?

(1)
2)
(3)
(4)

(A)
(B)

5. prgGarunerésmi
.19, e
Quomymivgd) Caamis

&.cTetr. BTERTTGIEM]

(1) wpmib (3) sNwurareney

(1) wpmb (2) sNwrereneu

(O (2) wpmd (3) sflwnarenay
(D) (1) wpoud (4) sRlwranema

(E)

cflenL_ Qsflwaldency
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97. Match the following and choose the correct option given below.

L

Union Minister
category

(a) Cabinet Minister 1.

(b) Minister of state 2.
with independent
charge

(¢) Minister of state 3.

(d) Deputy Minister 4.

@ G @© @
A 2 1 4 3
B) 3 4 1 2
©C 4 3 2 1
D) 1 2 3 4
(E) Answer not known

Function

Does not work under a Cabinet
Minister -

Pretend and participates in every
meeting of the cabinet

Works under a Cabinet Minister

Does not have independent charge of
any department

EpssmaTiiuBib Lliguicsmen QurmsHs slwunen e ows Coia Gals.

WEHHW DNDDEST
cuUNs

(a) Siowsst GW 1.

(b) sal @erssra@Lw 2.
WSS SH@DEST

©) wHHu Siewssi 3.
(d) @Qaar sewésl 4.

@ @® @© @
(A) -2 1 4
B) 3 4 1
C) 4 3 2

B 1 2 3

S e

L ewfl

Geut @urgis  siewésllen Spu  vexfl
yflwwmerf

Simadg DeDFETMa Gl LSHQID SQH
Qaram(® unkig Qup GaudBib

@auit @yrgis Siewsst Spu va] yfw
Geuat(hiLb

Qamses sl @orsra@Lw Sl DEET
@@$5UULLDWLLL_WQ|
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98. Choose the incorrect one from the given below.

(1)

(2)

(3)

(4)

(A)

(©)
(E)

Fundamental frecdoms guaranteed by Article g

Automatically suspended during emergency.

The President has the power to suspend few rightsg
Article 359.

Some of the fundamental rights are available only to ¢jt
India.

7 |

f

|
i

i'
are |

unde,

izen of

f

The Parliament has power to grant fundamental rightg to f

persons serving in the armed forces.

(1) only (B) (2) only

(3) only (D) (4) only
Answer not known

Sipssam_cupmer saummar gareops Caiey Qswiwa)d

(1)

(2
(3)
(4)

(A)
(&)

- T ———————

Ss@wuy  old 19 apewn o gfyeungdb - efdsiiuL DiqULaL |
2 flevwser  s@enggp Apmésy  Hee sMugfld  sramsGa

B fpgsiu@i.

Siggeowly  dld  359-§p A zz_ﬁia)u)essmm Qe fnss

SYWIFSEDOUMES SFaTD 2 drerg.
flo o Mewser @pHuw GoE@IEG WL HGW Hari @

@rngneugddr vesflwumpmib PUEER&®E gLl o Aewses
Brm@wensdhe Sidsmb o derg.

(1) wC.Eb (B) (2 WL b
(3) v (D) 4) v Ew

(E) e Qsflucldea
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99. Assertion [A] An autonomous sub-state called Meghalaya was

established within the state of Assam by the
Assam Reorganisation (Meghalaya) Act 1969.

Reason [R]  : The state executive and legislature can alter or
redistribute the territories of the units of the
federation if they so desire.

(A) [A] is true but [R] is false

(B) Both [A] and [R] are true; and [R] is the correct explanation
of [A]

(C) [A]is false, [R] is true

(D) Both [A] and [R] are true, but [R] is not the correct explanation
of [A] 1s correct

(E) Answer not known

sapm [A] 1 @iEmb wpfrewliy (GLQ&SITQ)'UJIT) srLb 1969 gpatd mismibd
wrfesdbEea Custawn aarp saemmid g wrHeb
BpeutiulLg.

smeamd [R] @ wnfe ol fszieop wppd  slLwdpb aﬁ@xbnﬁ\mnd)
sl Law19er  s@safar  floduEgdewu  wrHpemd
2o wnudliey Gslweb.

(A) [A] #f e [R] seup

(BY1[A] wppbd [R] @ueapd &f; wpmd [R], [Alssrer sfwner
cfleTé& MG

© [A] paupy [R] &f

O) [A] wppd [R] @ranGw f; weme [R], [Alssrar shurer
Aarsswow aaug &fl

(E) e Qzfludida
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100. Which of the following state

ments are correct with respect to

TR
“Objecti P - ion?
Objective resolution” of the Indian Constitut .

(1)
(2)

(3)

The author of this resolution was Dr.B.R. Ambedka

It was adopted by the constituent  assembly

January 22, 1947.
The goal of this resolution was to declare India as a sovereigy,
Socialist, Democratic Republic.

This resolution was later framed as the preamble of the Indiap

(4)

Constitution.
(A) (1) and (3) (B) (2) and (4)
(C) (1) and (4) (D) (1) and (2)

(E) Answer not known

@pdu  sirflueewulGdar “@hsCsrar Eiwrend’ QsmLfursy Qeraumb
spmisafler erg sflwunerg ?

1)
(2)

3)

(4)

(A)
©
(E)
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@pss Stwrasas erupdweui Dr.B.R. SbCUEsIT.

Qs geraufl 22, 1947 sy igdwd Blirerrw  sepuWITD gHmé
Qamarariul L g). '

@pdurees  @enpwuramewyde, Csrsels, RABMWSSE (G WIsTs
2NeuCs @sSmonansgder &D&Canarn@ib.

@sgionemd  QGenenit  @pHu  srHweweoriSer WSy TWNE
AUl QUMWESSEILILL G,
(1) wppid> (3) B (2) vpgw (4)

(1) wopd (4) D) (1) wpgb (2)
ellenL Qgrﬂueﬁima)w

n



